Lec-4-HW-1-selfModify-b-SOLN Memo '% BR +2

) - l ' .
Hene's the codle in >4 mbeli 3(;”“ 0000 110 0000 oo
PC
A
BRnzp +3 --- jump over data ) xl A3
x000C ;--- data, loop counter value (12) e
x0001 - data, A msle_g
x0002 ;--- data, B WA
LEA R4, #-3 ;--- R4 <=== A's address
LDR RO, R4, #0 ;-—- RO <=== .
LDR R1, R4, #1 ;- R1 <=== .
LDR R2, R4, #2 ;--- R2 <===instr 0
LDR R3, R4, #3 ;--- R3 <=== instr_1 ¢
LDR R5, R4, #-1 ;--- R5, loop counter <=== 12
;--- LOOP
ADD RO, RO, RO ---  shift A left 1 bit
ADD R1, R1, R1 ;---  shift B left 1 bit
ADD R5, R5, #-1 ;--- decrement loop counter
BRnp, #-4 ;--- UNTIL R5 ==
;--- ENDLOOP

ADD R2, R2, RO - R2 <===instr 0 + A
ADD R3, R3, R1 ;- R3 <===instr 1 +B
STR R2, R4, #0 ;--- store instr_0

STR R3, R4, #1 ;--- store instr_1



The same Crde

w/ machone fm;mg)/ﬁmfd&n

0000 111 000000011

x000C

x0001

x0002

1110 100 111111101

0110 000 100 000000
0110 001 100 000001
0110 010 100 000010
0110 011 100 000011
0110 101 100 111111

0001 000 0000
0001 001 0010
0001 101 101 1 11111
0000 101 111111100

0001 010010 0 ©C 000
0001 011 011 0 ©C 001
0111 010 100 000010
0111 011 100 000011

BRnzp #+3 ;--- jump over data
;--- data, loop counter value (12)
;--- data, A
;--- data, B
LEA R4, #-3 ;--- R4 <=== A's address
LDR RO, R4, #0 ;- RO <===
LDR R1, R4, #1 - R1 <===
LDR R2, R4, #2 ;- R2 <===instr 0
LDR R3, R4, #3 ;--- R3 <===instr_1
LDR R5, R4, #-1 ;--- R5, loop counter <=== 12
;--- LOOP
ADD RO, RO, RO  ;--- shift A left 1 bit
ADD R1,R1, R1  ;--- shift B left 1 bit
ADD R5, R5, #-1 ;---  decrement loop counter
BRnp, #-4 ;--- UNTIL R5 ==
;--- ENDLOOP
ADD R2,R2, R0 ;- R2 <===instr 0 + A
ADD R3,R3,R1 ;---R3 <===instr 1 +B
STR R2, R4, #2 ;--- store instr_0

STR R3, R4, #3

;--- store instr_1



Bu'v\m% ’Mmﬂ\fmc code Tansdcfed % }\e,y,,

0000 111 000000011

x000C

x0001

x0002

1110100 111111101

0110 000 100 000000
0110 001 100 000001
0110 010 100 000010
0110 011 100 000011

0110101 100 111111

0001 000 000 0 OO 000

0001 001 001 0 OO 001

0001 101 101 1 11111

0000 101 111111100

0001 010010 0 ©C 000

0001 011 011 0 ©C 001

0111 010 100 000010

0111 011 100 000011

BRnzp #+3

LEA R4, #-3

LDR RO, R4, #0
LDR R1, R4, #1
LDR R2, R4, #2
LDR RS, R4, #3

LDR RS5, R4, #-1

ADD RO, RO, RO
ADD R1, R1, R1
ADD R5, R5, #-1

BRnp, #-4

ADD R2, R2, RO
ADD R3, R3, R1
STR R2, R4, #2

STR R3, R4, #3

;--- jump over data

;--- data, loop counter value (12)

;--- data, A

;--- data, B
:--- R4 <=== A's address
;--- RO <===
-—-R1<===B
;--- R2 <===instr_0
;--- R8 <===instr_1

;--- R5, loop counter <=== 12

;--- LOOP
---  shift A left 1 bit

;---  shift B left 1 bit
;--- decrement loop counter
;-—- UNTIL R5 ==

- ENDLOOP
;--- R2 <===instr_ 0 + A

;- R3 <===instr 1 +B
;--- store instr_0

;--- store instr_1






